Inequality 8

10 November 2023 18:20

8) If a, b, c>0 and
$$(1+a)(1+b)(1+c) = 8$$
 then prove
that abc ≤ 1
Ano:- $1+a > \sqrt{a} \Rightarrow 1+a > 2\sqrt{a}$ $1+b \ge 2\sqrt{c}$ $1+c \ge 2\sqrt{c}$
 $\Rightarrow (1+a)(1+b)(1+c) \ge 8\sqrt{abc}$
 $\Rightarrow abc \leq 1$

$$(0) TE O \leq b \leq a \quad then \quad \frac{1}{8} \left(\frac{(a-b)^2}{a} \right) \leq \frac{a+b}{2} - \sqrt{ab} \leq \frac{1}{8} \left(\frac{(a-b)^2}{b} \right)$$

$$\begin{array}{l} (1) \quad Tr \quad 0 \leq b \leq a \quad ther, \quad \frac{1}{8} \left(\frac{(a-b)^2}{a} \right) \leq \frac{a+b}{2} - \sqrt{ab} \leq \frac{1}{8} \left(\frac{(a-b)^2}{b} \right)^2 \\ Aw: - \quad \frac{a+b}{2} - \sqrt{ab} = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\frac{(a-b)^2}{a} \right)^2 = \frac{1}{8} \left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right)^2 \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) \leq \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{b})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \frac{b}{\sqrt{a}} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \sqrt{a} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \sqrt{a} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{2} \\ fg\left(\sqrt{a} - \sqrt{a} \right) = \frac{(\sqrt{a} - \sqrt{a})^2}{$$

$$Q > a, b, c > 0 \quad \text{then prove trad}, \quad \frac{\alpha^3}{b} + \frac{b^3}{c} + \frac{c^3}{a} > ab + bc + ca$$

$$Aw! = \frac{\alpha^3}{b} + \frac{b^3}{c} + bc > 3 \cdot 3 \cdot \frac{\alpha^3}{p} \cdot \frac{b^3}{z} \times c = 3 \cdot ab$$

$$\frac{b^3}{c} + \frac{c^3}{c} + ca > 3 \cdot bc$$

$$\frac{c^3}{c} + \frac{a^3}{b} + ab > 3 \cdot ca$$

$$2(\frac{a^3}{b} + \frac{b^3}{c} + \frac{c^3}{a}) + ab + bc + ca > 3(ab + bc + ca)$$

$$\Rightarrow \frac{a^3}{b} + \frac{b^3}{c} + \frac{c^3}{a} > ab + bc + co$$

By For a, b c > 0 prove that

$$a^{2}b^{2}+b^{2}c^{2}+c^{2}a^{2}$$
 > $abc(a+b+c)$
 $a^{2}b^{2}+b^{2}c^{2}+c^{2}a^{2}$ > $abc(a+b+c)$
Ano:- $a^{2}b^{2}+b^{2}c^{2}$ > $\sqrt{ab^{2}c^{2}} = ab^{2}c$ Simbuly for other.
So dove

$$S-S' = \alpha_{n_1}b_{n_1} + \alpha_{n_2}b_{n_2} - \alpha_{n_2}b_{n_1} - \alpha_{n_1}b_{n_2}$$

$$= \alpha_{n_1}(b_{n_1} - b_{n_2}) + \alpha_{n_2}(b_{n_2} - b_{n_1})$$

$$= (b_{n_1} - b_{n_2})(\alpha_{n_1} - \alpha_{n_2}) > 0$$

Inequality Page 3

Q> If a,b, c>0 then prove that,

$$\frac{1}{a+b+c} > 2(\frac{1}{a+b} + \frac{1}{b+c}) > \frac{9}{a+b+c}$$

B) For real numbers
$$n, y > 1$$
 prove that,
 $\frac{x^2}{y-1} + \frac{y^2}{x-1} > 8$

Inequality Page 4